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THE STANDARD SLIDE RULE.

ELEMENTARY [INSTRUCTIONS

The Slide Rule is an instrument for fuciliating calenlations for practical purposes.

IL comsists of o stock, slide and runner.

The upper lines of graduations on the stock and slide are generally called the A and B
scales, and the lower lines the C and D scales. The A and B scales are used in conjunetion with the
© and I7 scales to oheain Pawers and Roots of Mumbers, The A and 1 scales can be used for simple
caleulations but being enly half the Logarithmic length of the C and 13 seales the results are nor <o
easily read.

The Runner or Cursor is a piece of glass framed to run in greoves along the stack,

A hair line is marked vertically on the centre of the glass.

1t is wsed in chtaining powers and roots of numbers, and alse in marking inteemediate
resules in extended calsulations,

The A and B scales are usually marked 1w 100 aod C and D seales 1 v 10, but these values
are purcly relative.  Any value (heing muleiples of 10) may be sssigned ta the indices,

For gxample if the left hand index (1) on the A and B szales is to represent 10 the values
of the orther graduations on the scale will he represented by 20, 31, 40, ere.

Apmin using the same value for the left hand index of the C and D scales the values of
the other graduations will be represented by 20, 30, 40, e

Hut in these examples the top and bortom scales cannat be used in conjuncticon,

HOW TO USE THE SLIDE RULE,

Multiplication Rule.—Ser the index of C 0 one of the factors on D, and under the ather
factor on C read the product on

Examples: 2-5% 34 Set left hand index of C 1o 25 on D, and ac 34 on £, fnd
#5 an I,

3% 85 Serright hand index of © to 36 on TV and at 85 on €, find 306 on D,

23x20= 62, Ser lefr hand index of € w 2:3 on D, sct line on Runner w229 an €.
set right hand index on C 1o runner and st 62 on C find 4135 on D,

Division Rule.—Set divisor un © o dividend on D and under the index of € read
quatient on D

Combined Multiplication and Division.
-3 =62 %74

Example ; i35 Set 43 on C, v 13 an D, ser the runner w 62 on C, set

3-5 on € 1o runner and 2t 74 on C read 3-96 on D,
FIXING THE POSITION OF THE DECIMAL POINT.

_ The position of the decimal point may be found by o rough calenlation, but for those
whi prefer rules the following iz the method vsually adopeed :



NOTE, -The mark 'C* on the

lower scale of the shide is sneor-

recely placed in che lllustration ;

S it should have been shewn at
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— = ¢ lower scale ‘D' of the
rule shews its corceet position.
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digits in the result 35 equal ro the sum of the number
T thee left,

Multiplication. The number
of digits in the factors, if the slide projec

IL the slide projects 1o the right the number of digits in the result is equal to the sum
of the number of digits in the factors minus |

Division. The number of digits in the quatient is equal 1o the difference (plus or minus)
af the number of digizs in dividend and divisor, if the slide projects 1 the left. But if the slide
projects b the right add 1 o this dilference,

1f the resulting number of digits is minus, the resuliing product or quaticnt will be a
fraction with as many s afeer the decimal point as there are resulting minus digits, Care must he
taken that all additions and subtractions of digits are Jone algebraically, .

Examples: 2-4 =32 x 768 Number .of ‘digits=32 ~1=1
3bw 4 E—1728 w2
3300012 —-0042 = T ey s e e )
7:2+24-3 S 1A A5 il 1‘ 1
: g

In the case of combined multiplication and division a0 aveid mistakes o good methad 15
tovchange 21l the digie signs in the divisor then 4dd (algebraically) o digits in dividend.

SQUARES AND SQUARE ROOTS.

IF the runmer is set 1o any value on 13 its square will be read off an A, Conversely, if the
runner is set o any value on A, its square root will be read off on D,

To find the number of digits in the square of a number, 1f the square is sead off an the
Teft hand halt of A it will eontain twice the number of digits in the crigingl number, minus 1; il
read off oo the night hand half of A there will be twice the number of digits in the ariginal number,

Square Roots, Where the number contains an add number of digits the lelt hand half
of Ads usec For even numbers use the right hand half of A,

CUBES AND CUBE ROOTS.

Lobes. To cube a numher, 8ol
number on feft hand halt of B read cube «

her index as required ol C o number on D, and at

Al

Cube Roots,  Set runner e number an-A and adjust shde so that resding at runner on B
is equal te reacing an T undes either index on .

Point off number into groups of thres starting from the units place. TF the first or left
hand groug oo s one fignre the reading will be taken on the lefr hand half of A using the left
hand index of C. If firse grl:ll!’ contains two Ggures the reading will be tken on right hand half of
A sing the lefr hand index of C TF ins theee figures the reading will be taken en
hard halt of A using the ri

Note, Left hand boll of B musc

; To determine the number of digits in the cube of a number, 11 the loft hand half of A
is psed with the sid ting to the right, there will be three times the number of digits in the

avs be ms cubes and cube ronts.




Cuibie,

2 (3 N2). IE the right hand holf of A 15 used with the slide proirclir}gl w the=right,
there wi i 1)

I three times the number of digits in the cube less 1 {3 N-1),

IE the left haed half of A s wsed withthe sfide projecting fo the leit there will be thres
| T ¥ a

times the number of digits in the cube (3 M. |

To find the number of digits in the: sube l'bfi n\,ﬂumber. Point off the number fingo &
groups of thres, starting Crom the decinal peioe if tEL ﬁimﬂ n
digic in the ot for every section so pointed off,  If the first gloup consists of one or two fgures
it must still by counted a5 2 complets section,  H the number is desimal tere will be one 0 for eyery —
complete proup of chree 0's immediately follows he decimal poiny, U required, 073 must be added
I make wp  complete section of three f 5. Thus 0:2—0-200,  G-UIS—0-000300.  This is to
cdetermine which scale is to he used as sxpliined above,

LOGARITHMS.

on the reverse side of sl all be found en evenly divided scale. Lhe graduations are

the: m: v of the numbers on-she C and 13 scales

To find the log of 4 number set lefe hand index of C to number on DY and apposite
indicaror mark on nowh at back of stock will be Linand maptissz of number regaired: © A convenienr
way is o reverse and inverr the shde and read direct from the D scale.  The indices of seales st
coineide, i

The Characteristic is fousd in the-usnal manner.

SINES AND TANGENTS.

sk slide e the logs of the Simes of angles,

The-upper graduations on the rev
‘angents of angles,

the lower graduations being the logs of the

To find the Sine of an angle, Reverse shide s thae the Trigonomenical scales are upper-
maost, and the end divisions on the dide coinode with the end divisons on the stock,  Then the
Sine is read off on A over the given angle on 5. -

Results om the right hand hall of A are prefised by a decimal poin: onby, whilsa resules
on left hand half are preceded by an 0.

Example :—Sine 21 W0'~0:301 (R.H.} Sine 19 40 04029 (L)

To tind the Tangent of an angle. Reverse slide, as explained above. Then read off on
D> ahe Tangent of the given angle an T3 the result found being wheily decimal,

Far Tangents of

sof less than 5% 43 yse the sale of Sines prefzing = oyplies 1o the

Far Tangenrs of angles above 457 use the formuls: Tan. A o
A & Tar. (H2-A)
The sign -L:—_| +—',"h tound =t the ends of the A scale 15 a reminder of 2 method
§ - CaEy ! - G "
vsed in ascertaining the number of figures in o resultc. This and ether methods are fully desle with
in Seandard Looks on the Slide Rule. The Gavge marks ¢ and o are wsed in caboulating the
contents of cylinders, viz,, set © on G to dismeter an 1), and’ over length on B read cubic contents

on A& is used when the slide has o e pulled u more than half way,
) .. The Guuge Point M is used in finding the circumference and :
of 4 cylinder, viz, set M on B o diamerer on A] i}
and the area of curved surface over the
The
determining the o

] wl srea of the ourved surlace
he ciecnmference being read over 1o 10 an B,
sngth on B

ge Point i found ar 3-1416 an beth the Upper and Lower scales i wsed in
miference of circles,

Boe 150 decimal. Then there will be abe 17k,




